
125 EXC SIX-DAYS 2005 <2005><EU><7103E2>
CYLINDER

32482

Pos Part Number Description Additional Text Quantity

1 50337001100 INTERMEDIATE FLANGE 125 2000 1.00

5 50330005300 CYLINDER 125 2002 1.00

6 50330006400 CYLINDER HEAD 125 SX/EXC 2002 1.00

8 0835080273 STUD DIN0835-M 8X27 125 SX 4.00

32 50230032010 CU-SEAL RING 7,3 X 12 X 0,5 6.00

35 50330035007 CYL.BASE GASKET 0,07MM PAPER 0.00

35 50330035015 CYLINDER BASE GASKET 0,15MM 0.00

35 50330035020 CYLINDER BASE GASKET 0,20MM 0.00

35 50330035025 CYLINDER BASE GASKET 0,25MM 0.00

35 50330035040 CYLINDER BASE GASKET 0,40MM 0.00

35 50330035050 CYLINDER BASE GASKET 0,50MM 0.00

35 50330035075 CYLINDER BASE GASKET 0,75MM 0.00

37 50330137000 CYL.HEAD SEAL RING 125 2002 125 1.00

40 0015050203 HH COLLAR SCREW M 5X20 WS=8 6.00

45 50330045000 HH COLLAR NUT M 8 WS=12 4.00

46 50337046100 INTERMED.GASKET 1,1MM 125 2000 1.00



74 51005074000 RETAINING PLATE 2.00

77 0015060103 HH COLLAR SCREW M 6X10 WS=8 FC 1.00

78 0603061001 CU-SEAL RING DIN7603-6X10X1 1.00

79 50030079000 CYL. HEAD BOLT M 7X40 WS=10 6.00


